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QUESTION 1

Your customer wants to receive an IB shipment and capture pallet weight at the time of receiving. Which parameter
must be set in the Receiving RF screen to meet this requirement? 

A. Set Capture-catch-weight as "Prompt for catch wt". 

B. Set Mode as Blind-ASN Receiving. 

C. Set rch-sku-not-on-shmnt to "Promt for catch wt". 

D. Set Single-Sku-management as Assume Single SKU. 

E. Set Blind-License Plate Number-receive-mode as by SKU scan. 

Correct Answer: B 

Reference: https://docs.oracle.com/cloud/owm70/owmcs_gs-cloud/OWMRN/OWMRN.pdf 

 

QUESTION 2

In WMS Cloud, which two statements are true about WMS BI Cloud? (Choose two.) 

A. WMS BI Cloud is available for use out of the box 

B. WMS BI Cloud allows users to create reports by creating SQL queries 

C. Tables in WMS BI Cloud are referred to as categories 

D. By default, the WMS BI Cloud functionality is disabled 

Correct Answer: CD 

 

QUESTION 3

Which three interface validations cause the Advance Shipment Notifications (ASN) to fail when uploading to WMS
Cloud? (Choose three.) 

A. A Purchase Order that is referenced on the ASN doesn\\'t exist in WMS Cloud. 

B. ASN Qty and Purchase Qty do not match in WMS Cloud. 

C. ASN data is past the shipping date. 

D. Purchase Detail line and ASN Detail line do not match in WMS Cloud. 

E. ASN file has invalid data format. 

Correct Answer: BDE 
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QUESTION 4

Your customer wants to have the Purchase order created in their legacy ERP system and download it to 

Oracle WMS Cloud. 

Identify four mandatory field values that must be present in the Purchase order to be successfully 

downloaded to the WMS Cloud system. (Choose four.) 

A. Ship Date 

B. IB Shipment 

C. License Plate Number 

D. Vendor code 

E. item 

F. Item Quantity 

G. Purchase Order Number 

Correct Answer: DEFG 

 

 

QUESTION 5

When creating an Appointment, which three "Matching value type" selections can be used to create the Appointment?
(Choose three.) 

A. License Plane Nbr 

B. Load Nbr 

C. Dock Door 

D. PO Number 

E. Advance Shipment Notification 

F. Trailer Nbr 

Correct Answer: BCD 
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